00000 030000000000
00002016/10/17(0)

0000000 00 (A208 000 16:20-17:50)

10000000000
() 0000000000 ¢ b0000 (0O00D000)0

1 _a n b (%)
4—22 924z 2—=x

d
(2) DOoooOooooo x’:4—x2DDDDDDDDDDDDD’:%[II:II:JI:J

(3) 00000000

d
DDDDDDDD’:a[]DDD

00 (D0)o()OooOoOooOooOoUoOoO (x)O00O00000 z00000000OO0DOO0ODOO

1 a b
= — 1=a(2 - b(2
4 — 22 2—|—x+2—x o z) +b(2+2)

— 1= (—2a+2b)zx+2a+2b
— 0x+1=(-2a+2b)y + 2a + 2b. )

x 00000000 (1) 000000000000 00 e,b0000000O0OOO

—2a 4+ 2b =0,
2a +2b = 1.
1

1
DDDDDDa:E,bZZD ---goo

(2)00000z=4+2000000 ¢/ =4—2?000000000z#+20000000004—2% = (24+12)(2—x)
000000 (1)0000000000

dx 1 dx
g~ CroR-0) = Gs TN w
1 dx
= S au=1d
- /<2+m><2—x> dt /
1
= _dr=[1dt
- /<2+x><2—x> ’ /
1 1
4 4 _
_— /(2+x+2—$> dz:—/ldt
1 1
= [4
o /<2+x+2—x> dx / dt
= log|2+z|—log|2—z|=4t+C
2
:»b%'“ﬂ=u+c
2—x
N 2+x:ie4t+c
2—x
2
— 2T _ et (+°0 CcDODDOD) (1)

2—x



00000000 CcROOOO +e€400000000000000

2+ 2(Ce*t —1)

(i) Q_x:CéﬂﬂﬂDDDﬂﬂ:iﬁjgg— (0DO0OC+#0), 00000
2 — 21 — —4t
(ii) 2+i:0€“,DDDDDMﬂ:4%Ig§EJ (0D0OOC #0).

0000@G) 00000000 C#£000@G30) 00000000 CO %DDDDDDDDDDDDDDDDDD
gboooo

()* z(t)=-2 (() 00 Cc=00000000),
(i) z(t)=2 (G)D0 Cc=00000000).

000000 2/=4-220000000000000000000

2(Ce*t — 1) 2(1 — Ce™#)
=", 0000, a(t)= o’
o) = g o) = eow
00D0CD000D0000000000000 --000
, 0 2(Cett — 1)
00000000000000000 +/=4-2°000000000000000 o) =="(7-0000
€
2(1 — Ce™#)
t)="——— -/ 0000000000000000
=(t) 1+ Ce™#
(3)00 20000000000000000 (») 000000
Step 1 (00000 ¢ 000000000 ¢/ =4-220000000)0
(2) 00000000 ¢/ =4-2200000
2(Ce*t — 1)
)=
v(t) = = om (t1)
00D0Co00000000no
Step 2 (0000000 CO000)O
D000 2(0)=1000¢t=00 () 00000000
2(Ce'? 1) 2(C - 1)
1=""" = 0000, 1=
1+ Cet0 ’ 1+C
Doooooo 1=2C2 0 co0000000C =30
Steps 1, 2000C =30 () 000000000000000 (+) 000
2(3ett — 1)
="
z(t) 14 3e#t
0ooo -.000

O0OStep 1 0000000000 2’=4—-2200000

2(1 — Ce™*)
"0 =g

0000000000 z(0)=1000000000 CO C:%DDDDDDDDDDDDD (fhHhooo

1ot
o) = 2 8
2(3ett — 1)

0000() 00000 3% 00000000x(t) = 3t 11
e

gbooooooobooo

00000000000o0UoUoUo (17) O



